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1,000 | 112.04.06 | A-¢ Fces ~ HELfces ~ 2 B ~ 4 £ ik

1,000 | 112.04. 06 | A& $c0s « & 3dent « 2 8w « £ £ ik

1,000 | 112.04.07 | Atg Foos ~ AERFeos ~ 4 55350~ £ £ i

1,000 | 112,04 07 | A& $crs « & ddent « 2 jafem < £ £ ik

1,000 | 112.04.07 | A-¢ Fces ~ HELfces ~ 2 B~ 4 £ ik

1,000 | 112,04 07 | A& $crs « & 3dent « 2 8w « £ £ ik

1,000 | 112.04.07 | A-¢ Fceb ~ HELFCEs ~ 2 7530 ~ 2 £ 773
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1,000 | 112.04.07 | A-¢ Fceb ~ HEpdees ~ 2 B4k « & 4§
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1,000 | 112.05.03 | A-¢ Fces ~ HELfcEs ~ 2 7530~ 2 £ 773
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1,000 | 112.05.03 | A-¢ fces ~ HEpfees ~ 2 B4k « & 4§
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1,000 | 112.05.03 | A-¢ s ~ HELfces ~ 2 75300 ~ 2 £ f77F
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1,000 | 112.05.03 | A-¢ Fces ~ HErders ~ 2 Fes 2 L i
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1,000 | 112.05.03 | A-¢ s ~ HELfces ~ 2 7530 ~ 2 £ f77F

1,000 | 112.05.03 | A-¢ Fces ~ HErders ~ 2 Fes ~ 2 L i
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1,000 | 112.06.02 | A-¢ s ~ HELFcEs ~ 2 75300 ~ 2 £ f77F

1,000 | 112.06.02 | At ¢ dc2s ~ HEpfees ~ 2 500~ 3 £ A

2,000 | 112.06.02 EFEAe ()

1,000 | 112.06.05 | At dc2s ~ HEpfees ~ 2 500~ 3 £ A




FP DAY R ARSI RSB ATE
(11243 -112%67 )

£ 147 I TIFEA P
- SR p e ‘ ¥
%(if%_;u) * ‘T)}\B g? (#ﬁ] » .%) %F

1,000 | 112.06.05 | A-¢ Fces ~ HELfces ~ 2 B ~ 4 £ ik

1,000 | 112.06.05 | A 24 ~ A Rfees « 2 & F 0« £ £ Foi

1,000 | 112.06.05 | Atg foos ~ AERfens ~ 4 55350~ £ £ i

1,000 | 112.06.05 | A 24 + A Rfees « 2 & H 0« £ £ Foi

1,000 [ 112.06.05 | A-¢ fces ~ HELfces ~ 2 B ~ & £ ik
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